1:2,500 dEA M EAR
II—GD 85— 3

-18.0

o Il—GD 85— 3

84-2 85-1 85-2
84-4 85-4
94-2 95-1 95-2
T X H
/
J\ 1% 7 X
i
/ # @B &
/ i AL M
~ IR X
A%ﬁ§>
/

= =
AC =1
A . = A A
CD 3 e 312
® 25.62 Kk # &
2B ERUE
— E25rMH o 42.3 ZEFRURE
N LY
. v 35.6 BB
rool ] =5 omes | m 2573 AXEES
+94.0 = N
12.3 ﬁaﬁgw&g\
HERES 15,8 BENECL3
28 =) S
A B OE M S
B 4 B oo g
% W m 2 g
w8/ L = "
®O% B il 2 5 ®
% B B T s &
HHEES 0 B B W
% BB E A + 73 >
M OB B - B B
BERE R (TR Rl 0
BEOWH - HEFE 0 R ()
# it P SRITA (§HEEA)
b 5 1 7. = B o WA RS
h./s -4’6 mel/ o I FURb B & o £ B i
so7§\§\“~\.\ g’r TOMRYBR O 5 v v
N -E L e B : % 1% L 2 ES
N <B T‘?K WiE - REE AQH & #
E\p\%}% = N RPN T o N S
ik e X ® @ % K1 &
- Ph—5916 A=)
Pﬁ\/rsﬁﬁ:ﬁﬁ . % 53 Q el =
B BT t E 3 | K i W R
s PRGN ™ el a]
& E S B0 - EEA
. ) = & Iy BR - ORR
I 15 R MoR B
E i A &
Bk 718 cm e
Z AR — A ~ 0
& & T - =
HOEoE % —_— % @& #% ®
B oW @
EOE &
——— R =
& = =
— GEma ~  BRP O %E
mr o mp | - RO EEH O
= 2 N A
RUE®RE
- S
Ll  x = &
OB B TT
— T — BEOTELE
i 1%
= BOE O % E
o = RUEDH
EEOSE\E
—m e % B ®
= N K & =
AT g\ | T L
— 4
PR $ R
o N R
HeRF-R R T ERSRORR
+93.5 ——— EEOTAR X EmMS
—— B BIER -—— — % R %
I L
=
1
B
N4
Ty \
8!
———— = / N \
e . , ¢ .\ // ! ./ 326,3
i S y 330 T
] j / ' ]
« s
“ ; o %
"’ 17 \\gw <
. / 322.8)-
g’ \.(’ /
v \\
/ ') /(A/ 2
1 TR SRR D A P
6176\‘

EEREIFTRUEELIXBEE RS 98 0DRE
L2511 EEXR

BERBEAILHIMIRE
RBICERRLTHDIEZM@EIEFOA— LB
FTEHEREZMEEHERI®RICHE
ABREFLFAA—-FIER
BIOEELIRRBEOTEHER
EEBROBBE2A—- M

Il—GD 85 —3

FR22FEAE (1) 1. B 18 & & TR 18 & 10 A IR ¥ EOBEOR OEIR T EFEMEE . HRABRCHE - 2500 [CONBRRE. EHHBEREOERRUHELBTRAKRED @ it A M T
SMITEEIE 2. gk 18 & E A T k18 & 10 B & & LR 2 m . o 0 - -0 200 400 s BEREEFERLTEBEHDTHD (_7;‘&?3%%) F22 AN EE1395)
3.F B 15 & E A F R 15 E 1B R COMBIE. FRO2EEICELEARRBCERELEZHOTHS 1 1 1 1 1 1 1 : 1 Om [COMERRE. ErHEREOHE£ZFTEELOTHD EEHBB KL/ X O
A FRHRITEENR FERITEIR IR E (BEES) &1 AL 52962
(2) 1.F K29 %F 5 B8 B
2.5 M Tt & 11 B EtEHEE
3.5 M E N B AR




